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1] Solve Linear Systems
by Graphing

Goal - Graph and solve systems of linear equations.
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SOLVING A LINEAR SYSTEM USING THE GRAPH-
AND-CHECK METHOD -
Step 1 g;'_o.ﬁ'eu both equations in the same coordinate

plane. For ease of graphing, you may want to R
write each equation in S LOPE- I~ TER cepT (Y.f ™M X+ l:_>>

! Step 2| Estimate the coordinates of the NT
——oF INTERSECTV ( 903;%

] Step 3’ CH'Eck_the coordinates algebraically by
substituting into each,e‘quation of the original
linear system. -  —

Your Notes

‘Use the graph-and-check method
Solve the linear system: 3x +y =9 Equation 1

Solvethi g
—-x+y=1 Equation 2

Syste
Solution g &
1. G@Muboth equations.

Rl K
: EQ| 3x4y =9 EQa] -wiy=|
1 e

To ease graphing,
write each equation
in slope intercept

AT X!'3

X | = x 4|
L . X6/ \ - . -
iAF//,, i _,l/‘
s T b=
e d
2. I!s/timate thgboint of intersection. The two lines
appear to intersect at ( , © ).

3. Check whether (& , 3 ) is a solution by substituting
o{ forxand 3 fory in each of the original

equations.
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Your Notes

@ checkpoint Solve the linear system by graphing.
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7.1 HW Review
CHECKING SOLUTIONS Tell whether the .
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35. MULTIPLE REPRESENTATIONS Itcosts $15 for a yearly membership to
a movie club at a movie theater. Amovie ticket costs $5 for club members and $8 for

nonmembers.

a. Writing a System of Equations Write a system of equations that you can use to find
the number x of movies viewed after which the total cost y for a club member,
including the membership fee, is the same as the cost for a nonmember.

~ b. Making aTable Make a table of values that shows the total cost for a club member
c and a nonmember after paying to see 1,2,3,4,5, and
; 6 movies.

c. Drawing a Graph Use the table to graph the system of equations.

Under what circumstances does it make sense to become a movie

club member? Explain your answer by using the graph. .
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Solve: Create a table and then graph both lines.
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Tickets (x) 1 2 3 4 5 6

Membes: Y =|S+EX

Membersh) 120 |as 30 |3s [fo |4S

Tickets (x) 2 ,7' 5

~
0

&S (0

Nowmembers =
7/ TX ’\\) Non-members (y) & lle |#f 132 (P

Clearly label scales and axes

o 3
~~ ! i %

I ! i
o IRy

=L Ny

v ! / : _
| /| |F Someone. %065 o S movies
> = i

Q v

g 20- | , | %57’ SPenJ ‘i'fc (Membef or
_4—‘-’ ! E YWta mem b€f>
g .

> o

o 1T = 3 9§

7Y
#od Moy, es
Identify the solution: ( S . 'fO ) Check: Does the answer make sense?
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Your Notes

olve Special Types of

Linear Systems -

- ldentify the number of solutions of a linear
system.

3 TYPES lo F SYSTEMS:

To ease graphing,
write each equation
in slope intercept
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A linear system with no solutions

Show that the linear system has no solution.
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Your Notes

CQZ 3x49y =-9
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Y=z X -1

A linear system with infinitely many solutions

solutions.
x+ 3y =-3

Solution
Method 1 Graphing
Graph the linear system.

The equations represent the
Same line. , so any point
on the line is a solution.

So, the linear system has

INFINITE Salufions .

Show that the linear system has infinitely many
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NUMBER OF SOLUTIONS OF A LINEAR SYSTEM
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